BUETRER (45 8 =BH1R)
SM2% 48 148H
EFRFLHRE BEAR KR

RS 4R B TR BB N R

K& ik fhis
.2

1 A
BEEEE 3,720,000 M
2 XH
i— BE X %R _ EBXHBDOHER w5
woE OB R R 57,878 H m&%%%a%%%%%m| |
HF & | 0

RE#RES 15
1,955,782 H E B RS WRFETT 3 [E] (esvcom

106,301 H TWEHNEZOE~DEHE

i
2
i
#
B
&
MW o m

Iié ¥ {’F_ F%. _E"__—OFQ_ | -
lg ¥ B A E 151,408 M %TF.’E?JS%RR%)\IZ#E_% -
* % 2] %I 282, 721 mfiggiggwwﬁﬁ I%;%V;___
= % % 346,646 iggﬁgﬁ{mm:ﬁﬁ W EL/2 B
A ﬁ:_ %i__ 543,336 M %i’%;ﬁﬁﬁié‘éélzﬁﬂ 53\_ _%11/7 -
.é§ - %__ 3,465,84;__;;______-____ -
3 BRARDH - : o

254, 157




